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IIT Semester B.Com. (NEP) Degree Examination,
December/January - 2024-25
BUSINESS STATISTICS (DSC)
(Regular/Repeater)
Time : 2 Hours Maximum Marks : 60
Instructions to Candidates:
1)  All Sections are compulsory.
RTY, VERNNTO T 0.
2) Simple calculator is allowed.
ATY neegoddos, LuTodeeNTe0 U008 9.
3) Question No. 11 case study is compulsory.
=3, Mo, 11 &30 ©53,00T 8 030NTS.
SECTION - A
QPN - D
Answer any Five of the following. (5%2=10)

egor 0T LUZDRD.
1. _a)~—What is AM ?
" TR DOTTEO ?
b) Define histogram.
SRR ST, IR 399,809, 8%0.
c) What do you mean by quartile deviation ?
WBITF WBOT A0TTERD 0T SPDTIWD ?
d) State the meaning of permutation.
3,30030e%S50%0 Le S90.
e)— What is scatter diagram ?
WE0T T, 0TI ?
f)  Define base period.
SITO STJQ 3,859, 2R0.

g If X-4,N-7, find Tx.

X=4,N=7, find ¥ x Fo@&HBOWO.

[P.T.O.
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SECTION - B
PR - VD
Answer any Three of the following. (3x5=15)

Weor WweTE QS OA0.
Define skewness ? Explain types of skewness.
8,88 539,809,QR0. WBIIT T,TONIT) WBORD.

3~ Find mean and mode for the following data.

g3 3¥ToT 33:@0366 pafeprite) m@i WRIOT TOBIEBO0.

Class: 0-9 10-19 20-29 30-39 40-49
RMRFOST

Frequency: 5 10 & 11 7
58

_g.e#."‘/Compute M.D from median

3.

ROVRO QWBOBODTO, W, 0800T OB HROWDO.

Class: 0-10 10-20 20-30 30-40 40-50 50-60
WNOF 030!

Frequency: 6 5 8 15 7 6
3,8

An urn contains 8 white and 3 red balls. If two balls are drawn at random, find the
probablility that (i) both are white (ii) both are red.

2WOTR FOBRFIL 8§ WY WI 3 Foxy WOROMNTIY, WORRORE. mq)zéfmﬁ QT
WORINTT 2R3 Sricen (1) 0@ 2@ (i) 8@ o, WoRonehd QTS mqﬁﬁéw
HoPRCHIODTY, FoRLRWO.

_A4~" From the following data calculate index number by simple aggregate method.

39806 TTR0B00T ATY W), WTOTROT R, 08 F0aS, 080, FOWO &&BOWD.

Commodity: A B C D
ROBO:

Price in 1980 (Rs.) 162 256 257 132
1980 T ¥

Price in 1981 (Rs.) 171 164 189 145

1981 © 3¢
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SECTION - C
QP - A
Answer any Two of the following. (2x10=20)
Wesm DTBE  QUZOAD. _
/,7./"" Consider the following data, calculate mean and median
B3 3YT0B TS0 WONEIR0. ATIRO DAV mqmsoﬁ FOBRISHROWD.

Class: 0-10 10-20  20-30  30-40  40-50 50-60  60-70
WMFO3T:

Frequency: 8 12 10 8 3 2 7
83,8:

8. Calculate Laspeyre's and Paasche's indices for the following data.
83 5Y50R TE088 CRACIT' WB) W,PUNC ReLs, 08 SEs BR@O.

Base year Current year
R IR T, B0 IAF
Commodity Price Quantity Price Quantity
ATH (151 T, WD RS T,/
A 6.5 500 10.8 560
B 2.8 124 2.9 148
& 4.7 69 8.2 78
D 10.9 38 13.4 24
E 8.6 49 10.8 27

e Compute Karl Pearson's co-efficient of correlater, between- advertising expenses and
sales from the following data.

89908 TTOBOOT TOF LONCRIT BBAOWCE MOWOTRTY WokTRRD e, T
WROMT W, VTV FOWOTOOT TFLT WREO0.

Ads. exps (Rs.)) : 39 65 62 90 82 75 25 98 36

(Rs. in lakhs)

WhewBD IW, (TR.)

Sales (Rs.) : 47 53 58 86 62 68 60 91 51

(Rs. in lakhs)

B[RO (TR.)

[P.T.O.
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10.  Four cards are drawn at random from a pack of 52 cards. Find the probability that:
O WA WFACT CIRTRITWEN DLy HSNYRY, SR0DTIOND. F¥ECR
AOFWIORNE TR  HRONO.

a) Two are King's and two are aces.

QOB To® W, BB OFF SNTOS.
b)  All are Diamonds

2P BT, SIS,

SECTION - D
Aen - &
Compulsory question (Case Study) (1x15=15)

T,F00 &5y, oD (BB aSé)
/L-l-” “For two firms A and B the fellowmg information is available.
A =2 B NOmﬁ@ﬁ ROWORATI0Z, FFFTOB TWiwded d?.j wd:"@"u
Firm-A Firm-B

No. of wages earners 550 650
39 TREIVTRT F0s3,

Average monthly wag::s ('00 Rs.) 50 45

gons Roemd 829 (00 Rs.)

S.D of wages ('00 Rs.) Jo0 J120

890 DT ®ed ('00 Rs.)
Answer the following questions with justification:
=l ol wé?"‘aﬁ AXETTED AeTTY YVZOR0.
a) Whlbh firm A or B pays larger amount as monthly wages ?
ooRE & rJuan’ A o3 B TS 3080 800 Sonen QeEed ?
b) In which firm A or B, is greater variability in individual wages ?
OiRs ToA A €50 B o, 703088 300 ¢, 08 B3, WHETRHRRRYTLED ?
¢) What are the measures of
1)  average Monthly wages
11) S.D in the distribution of individuals wages of all workers in the two firms
taken together?

AT FOFTY BOIRUT 8O T[ORESAR B3 $980E CINT 3, L, 92D,
i) ZooRo Sore 8RO
ii) o0 3O DBTHoH [eDB W8S (S.D)




